k284 68228 FE/k = (1HRE1E)
(Bfr:21))
mE LT iFs
B IX=8|FI |58 [AE [#HEE|dhR =@ (WL |EEE[EH (e [EE  |dl |AF | KM 3 P |JBE [T |FHS Ak [#E
1
2
3
4
5
6 0.5
7 0.5 3.5 1.0 0.5 1.0 0.5 3.0 1.0 0.5 0.5 0.5
8 0.5 0.5 1.0 5.5 8.5 4.0 2.0 10.0 10.0 5.5 4.5 2.5 12.0 7.0 4.0 8.0 25 3.0
9 0.5 3.5 2.0 10.5 5.0 1.5 1.5 7.0 7.5 9.5 15.5 6.5 8.5 12.5 6.0 18.5 5.0 6.0 12.0 7.5 10.0 17.5
10 2.0 3.0 2.5 3.5 8.0 3.5 7.0 1.5 1.0 3.0 9.5 0.5 1.0 8.0 1.0 3.5 3.0 1.5 0.5 0.5 1.5 0.5
11 1.0 0.5 0.5 0.5 1.5 1.5 1.5 2.5 1.5 2.0 0.5 2.5 1.5 3.0 3.5 2.0 6.5 5.0 6.5 5.0 3.5 4.5
12 1.5 7 6.5 4 5 0.5 1.5 4 4 1 45 2.5 2 15 7.5 6 27 26 8.5 7.5 6 10.5
13 9.0 12.0 11.0 3.0 2.0 3.0 1.0 1.5 1.5 1.5 2.0 0.5 2.0 2.0 5.5 15.5 2.0 8.5 9.5 8.0 8.0 11.5
14 2 1 1.5 1.5 1.5 1 1.5 1 1 1 1 2 1 15 3 3 5 3.5 4 12 8.5 6
15 1.5 1.5 1 1 0.5 1.5 1 1 1 3.5 1.5 9.5 8 9 8.5 8.5 8 125 125 125 9 25
16 2.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 3.0 2.5 1.0 5.5 0.5 6.0 4.0 2.0
17 1 0.5 0.5 0.5 0.5 0.5
18 1.0 0.5 0.5 0.5 0.5 0.5
19 1.0 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5
20 8.0 1.5 2.0 0.5 1.0 0.5 1.0 1.0 0.5 1.0 1.0 1.0 1.5 0.5 2.0 2.0 2.5 1.5 1.5 0.5
21 11.5 10.5 7.5 2.5 1.5 1.0 1.5 8.0 8.0 1.0 1.0 6.5 2.0 1.0 4.5 2.0 4.0 4.5 4.0 2.0 2.0 2.0
22 16.0 6.0 6.5 1.5 6.0 1.5 0.5 5.0 6.0 2.5 2.0 18.5 4.5 4.0 2.0 2.5 2.0 1.0 1.5 1.0 1.0 0.5
23 7.0 8.5 11.5 4.5 3.0 1.0 0.5 12.0 8.0 2.5 3.0 1.5 3.0 1.5 1.0 1.5 0.5 1.5 2.0 1.0 1.0 1.0
24 3.5 5.0 5.0 5.5 4.0 2.5 4.5 5.0 4.0 2.0 6.5 0.5 1.0 2.0 2.0 2.5 1.0 2.0 4.0 15 0.5 45
H 69.0) 63.0( 605 470 405 20.5 235 570 545 37.0| 520 655 475 58.5 52.0 75.0] 820 825 76.5 69.0 575 64.5




FErk2ssE 68238 K= (1B5RE{E)
(Bfr:31))

mE LT iFs
B \IX=8|FI |44 [AE (#HEE|hR =@ |l |EEE[EH (e |[RE bl |[AF KM [ P |JBE [T |FHS Ak [#E
1 9.5 2.0 3.5 2.0 3.0 4.0 5.0 0.5 1.0 3.5 1.0 3.0 3.5 6.0 3.5 5.5 8.0 9.0 6.0 5.5 6.0
2 16.5 6.5 8.5 5.0 3.5 4.5 3.0 3.0 3.5 6.5 8.5 4.0 7.0 7.0 7.0 12.0 5.5 9.0 17.5 11.0 10.0 11.5
3 17.0 16.0 19.5 4.0 2.5 3.0 3.5 3.5 2.5 2.0 4.5 2.0 6.5 4.0 8.5 10.0 8.5 8.0 12.5 5.0 5.0 29.0
4 1.5 12.5 12.5 8.5 11.5 4.5 2.5 7.5 2.5 1.0 10.5 6.0 10.0 10.0 5.5 11.0 2.5 5.5 6.0 4.5 3.0 1.0
5 0.5 1.5 1.5 2.0 3.5 2.5 2.5 4.0 6.5 16.0 10.0 4.0 10.0 18.5 5.0 0.5 0.5
6 0.5 0.5 0.5 0.5 2.5 1.5 2.5 3.0 6.5 10.5 18.0 7.0 4.0 12.0 0.5
7 1.5 1.0 1.5 15.5 2.5 3.0 16.0 0.5 5.5 1.5 2.0 5.0
8 0.5 2.5 0.5 0.5 1.5
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
H 450 385 455 220 240 205 17.0 19.0 15.5 300 385 21.0 575 525 40.5 76.0] 295 40.0 58.5 295 2901 49.0
TR 284F 68198 ~21HMDE (Bifii:31))
Mo E LN iFis
AX=EB[EN |EE |fEE (FEE[PR (=8 |#ih [FEE|EHK |EE(RE [dull |AF  [KM [k P |JUBE [T |FHS Ak [
&E&H 131.0] 1205| 109.0] 1275 66.0 52.5 66.0] 1250 121.5) 112.0( 171.0] 114.5| 139.5] 153.0] 177.0] 158.5] 208.0f 213.5] 211.0{ 209.0] 1555 1355
ERR284 6H22H~23HMDE (Bf7:21))
P E LNTT] TiFis
x=8lFN |4n |mz |mEE|dx (m@ | |EEm bk (meilEs |dl (A5 (KM |k |wmEFE JVEE|FR s |Ek (@
&EtH 114.0] 101.5] 106.0] 69.0/ 645 410 405 76.0 70.00 67.0f 905 86.5[ 105.0] 111.0 92.5| 151.0f 111.5] 122.5] 1350 98.5 86.5[ 1135
T L 284F 65198 ~21HRU6H228~23BNEE (Bifii:3))
mE LT iFs
A=EB[EN |EE |EE (FEE[PR (=8 |#ih [FEE|EHK |RE(RE [dull |AF KM [k P |JBE [T |FHS Ak [
&E&H 245.0] 222.0] 215.0] 196.5| 1305 93.5] 106.5] 201.0] 191.5| 179.0] 261.5] 201.0] 244.5] 264.0] 269.5| 309.5] 319.5| 336.0] 346.0] 307.5| 242.0] 249.0




